



# GEOMETRIA ANALITICA

*Nombre del alumno; Itzel Abigail Tlamani Lopez*

*Profesor: Ing. Jorge Enrique Albores*

*Grado ; 3ro*

*Grupo: Recursos Humanos*

*Bachillerato*

# TAREA

$$C(3, 7) \quad r=4$$

ejercicio 1

$$(x-h)^2 + (y-k)^2 = r^2$$

$$(x-3)^2 + (y-7)^2 = r^2$$

$$(a+b)^2 = a^2 + 2ab + b^2$$

$$x^2 - 2(x)(3) + 9 + y^2 - 2(y)(7) + 49 = 16$$

$$x^2 - 6x + 9 + y^2 - 14y + 49 = 16$$

$$x^2 + y^2 + 6x - 14y + 9 + 49 - 16 = 0$$

$$x^2 + y^2 - 6x - 14y + 42 = 0$$

$$C(1, 10) \quad r=7$$

ejercicio 2

$$(x-h)^2 + (y-k)^2 = r^2$$

$$(x-1)^2 + (y-10)^2 = r^2$$

$$(a+b)^2 = a^2 + 2ab + b^2$$

$$x^2 - 2(x)(1) + 1 + y^2 - 2(y)(10) + 100 = 49$$

$$x^2 - 2x + 1 + y^2 - 20y + 100 = 49$$

$$x^2 + y^2 + 2x - 20y + 1 + 100 - 49 = 0$$

$$x^2 + y^2 - 2x - 19y + 52 = 0$$

$$C(5, 6) \quad r=6$$

$$(x-h)^2 + (y-k)^2 = r^2$$

$$(x-5)^2 + (y-6)^2 = r^2$$

$$(a+b)^2 = a^2 + 2ab + b^2$$

$$x^2 - 2(x)(5) + 25 + y^2 - 2(y)(6) + 36 = 36$$

$$x^2 - 10x - 25 + y^2 - 12y + 36 = 36$$

$$x^2 + y^2 + 10x - 12y + 25 + 36 - 36 = 0$$

$$x^2 + y^2 - 10x - 12y + 25 = 0$$

↓  
ejercicio 3

$$C(3, 6) \quad r=5$$

ejercicio 3

$$(x-h)^2 + (y-k)^2 = r^2$$

$$(x-3)^2 + (y-6)^2 = r^2$$

$$(a+b)^2 = a^2 + 2ab + b^2$$

$$x^2 - 2(x)(3) + 9 + y^2 - 2(y)(6) + 36 = 25$$

$$x^2 + y^2 + 6x - 12y + 9 + 36 - 25 = 0$$

$$x^2 + y^2 - 6x - 12y + 20 = 0$$